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          
       
          
          
      
        
       
      
     

 
       
        

        
        y  
    x   ŷ = E{y|x}  
  y  x      
   

ŷ = Ax 

 A = RyxR
−1
x      Ryx =

E{yxT }      C 
       y,x  A 
   yr   yi     y 
   

ŷr = E{yr|xr,xi} ŷi = E{yi|xr,xi} 

  xr = (x+x∗)/2  xi = (x−x∗)/2 


ŷr = E{yr|x,x
∗} ŷi = E{yi|x,x

∗} 

 (·)∗      
     

ŷ = E{y|x,x∗} = Hx+Gx∗ = Wxa 

          
       
           
            



           

  W     H  G
 xa = [xT ,xH ]T       [·]T
 [·]H      
      
      

Ra
x = E{xaxaH} =

[

Rx Px

P∗

x R∗

x

]



      Ra
x   

 Rx = E{xxH}   Px =
E{xxT }       
        
    Px = 0   
        
      
      
  

    

        
     β    
    

yo,k = sk + vo,k 
yc,k = sk cos[β] + vc,k 
ys,k = sk sin[β] + vs,k 

   o c  s     
    sk     
      k  vo,k vc,k  vs,k
        
      
        
       
    

Yo,ω = Sω + Vo,ω 
Yc,ω = Sω cos[β] + Vc,ω 
Ys,ω = Sω sin[β] + Vs,ω 

 ω        
   M     
      β   
         
       

β̂ = arctan[ŝ/ĉ] 

   ĉ  ŝ     M
  

ĉ = "
{ M
∑

m=1

Y (m)
c,ω Y (m),∗

o,ω

}



ŝ = "
{ M
∑

m=1

Y (m)
s,ω Y (m),∗

o,ω

}



  m     1 ≤ m ≤ M  
 m    "{·}       
     ĉ  ŝ  
        
    
        

       
  yo,k       
  ys,k  yc,k      
       sk    
      
 
         

       sk 
     M    
         
        sk
 

sk = sk−1 + wk 

 wk        
        
       

xk = xk−1 +wk 
yk = h[xk] + vk 

 xk        yk  
 h[·]      wk



 vk        
  Qk  Rk     
    






sk

zk

z∗k






︸ ︷︷ ︸

xk

=






sk−1

zk−1

z∗k−1






︸ ︷︷ ︸

xk−1

+






wk

ek

e∗k






︸ ︷︷ ︸

wk



 zk = cos[β] + j sin[β] = ejβ   ek   
      β  
      






yo,k

uk

u∗

k






︸ ︷︷ ︸

yk

=






sk

skzk

skz∗k






︸ ︷︷ ︸

h[xk]

+






vo,k

nk

n∗

k






︸ ︷︷ ︸

vk

=






1 0 0

0 sk 1

0 0 sk











sk

zk

z∗k




+






vo,k

nk

n∗

k




 

 uk = yc,k + jys,k      
        nk =
vc,k + jvs,k    
        

           
        
       
        

  
         

          
         
 E{vo,kv∗o,k}       
 vc,k  vs,k   

E{vc,kv
∗

c,k} = E{vs,kv
∗

s,k} =
1

γ
E{vo,kv

∗

o,k} 

 γ         γ = 1/2 
γ = 1/3      
         
E{nkn∗

k} = E{vc,kv∗c,k}+ E{vs,kv∗s,k}
       

E{vo,kv∗o,k}  E{wkw∗

k}      
           
      
 

rk = yo,k − yo,k−1 

      wk  vo,k 
      

E{rkr
∗

k} = 2E{vo,kv
∗

o,k}+ E{wkw
∗

k} 

     rk  rk−1 

E{rkr
∗

k−1} = −E{wkw
∗

k} 
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        
            
    

      

E{wkw
∗

k} = −E{rkr
∗

k−1} 

E{vo,kv
∗

o,k} =
E{rkr∗k} − E{wkw∗

k}

2


         
         
       

        
        
          


       
        
        
          
          
 

 
        

       
      sk   
           
       
         
       
         
 M = 1024     

   
          

sk = cos[2πfTk] + nk 
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   

                     
            

    f = 50Hz      fs =
1
T
= 10kHz
        

        
          
         
         
         
     0dB

   
          

   

sk = 0.9sk−1 + nk

 nk         
          

       
         
         
         
        
     

 

         
        
        
        
        
          
        
        
        
        

        
         
 


          

        
            

        
      
      

           
        
         
         

          
          

          
          
 

              
        
      

            
        

            
        
   

          
         
  

        
         
  

             
        
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